
\IATH 2r3 QU\Z 12 24 APRIL 2012

Answer the following question in the space provided. There is no need to justify your
answers. This quiz is wurth 5 points.

Compute the Jacobi.an of the transformat'ion tr : !, y : -+ Be sure to futlE si,mpli,fEU U+ LyouT ansueT.
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MATH 273 QU1Z 12 - 24APRIL 2012

Answer the following question in the space provided. There is no need to justify your
answers. This quiz is u'orth 5 points.

Compute the Jacobi.an of the transformat'ion r: e-" sin(u), A : eu cos(u). Be sure to

Jully si,mpl,iJll Aour answer.
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MATH 2r3 - QUIZ 1.2 ,24 APRIL 2012

Answer the following question in the space provided. There is no need to justify vour
answers. This quiz is worth 5 points.

Compute the Jacobzan of the transformati,on r : uu2, A : u(l + ur). Be sure to futty
simplify Aour answer.
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